
165328 

No. of Printed Pages : 7 
I IIIIIII IIIIII IIII IIII IIIII IIII IIII FME25 

Reg. No.: ......................................................... .. 

Name: .............................................................. . 

FIRST YEAR HIGHER SECONDARY 
MODEL EXAMINATION: FEBRUARY - 2019 

PART-III 
CHEMISTRY 

Maximum : 60 Scores Time : 2 Hours 
Cool-off Time : 15 Minutes 

General Instructions to Candidates : 
• There is a 'Cool-off TI.me' of 15 minutes in addition to the writing time. 
• Use the 'Cool-off TI.me' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• Read the instructions carefully. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questi.ons is also provided. 
• Give eq11,ations wherever necessary. 
• Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

n.flt3,J:J@mufldu8dK)~ 6'n_J:J(lJ)Jrrf/t8~tjWG68u8 : 

• 

• 

• 

• 

m7io(j7fl# (TV0)(1})(m)7mu a.JJ06)0J 15 OJ7m7Ru 'c(J:,Jdo 63:)n..[r 6)6)S0 , f2611§:JG2f/@7a}6')Jo. 

'c0:,Jdo 63:Jn.Lf 6)6)S0 ' 11.!2.l:JqJ 6lfl3do a.J@7.!2.l W6Jgj som6o f2(5'{ID@6lfl3do rrowrrvJ {(lJ)fimo 6J.!2.1<;2j:JmJo 

~a.J(S(1}):JCIJ7c06)Jc0:,. 

~(5'{ID@6lfl3do <¥i)'PJ(lJ)JrTn(lJ)7mu OJJmf 11.a.l:JqJ6lfl3do ~WOa.JJio()Jo m:Jcriflc06)6mo. 

m7iotJ(j~6lfl3do OJJlf'JmmJo ~W:Ja.JJio()Jo mocrifla}6')6mo • 

c0:, fimc06) u c£hJ§ eJJ c0:, do, .!2.17 { (lJ)6lfl3 do, {CIJ:Jn.JJJc£h do, <¥f) rm7 m @(5'{ID@ aa.J !Ji o7 rid (lJ)6Jrm 

~611§:JG2f/@7c06)6TT)o. 

a..a.J:JB,J6lfl3do OJeJW:Jf}fm)721Jo mm8c0:,7crifl31611'§~ 

17J1W{ll~~ m.JIJeJ(m)u fTVOJ(2J:Jc0:,J6lfl3do 6Jdh:JSJc06)6TT)o, 

<1(a.J:J(CIJ:Jl])Jc0:,do 6).!l.l<;2j:Jmoc0:,0(5'{ID c0:,oridaJ6')JtJeJROJc0:,do ~':l/6)c0:,(1})d!}il 63fDJ @eJc£ha(S:J6m7d!J:t 

~a.Jc0:,tD6maJJo a.JIDic£h!JKJ n.D:Jf}7rid f2a.Jt:W:JCIJ7a}6')J(2J:JOD n.JOslf!. 
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Answer all questions from question number 

I to 7. Each carry 1 score. 7x1=7 

1. The symbol of the element with atomic 

number I 18 is : 

(a) Uuu (b) Uuo 

(c) Ubu (d) Buo 

1 ai6®m'6 7 ru6lmw~ n@i o a!l.l::>al6'613<md36>6o 

@(ffl')t'?l6lm'f6®6db. OO<Brooon1m6o I <B<'!lPiti oJl®o. 

7x1=7 

1. «Ml a AO ai1 ~., mm.iiti 118 ~<nfl§3~ 

~eJdbffim16'l1 .!'l.Jlnmo 
(a) Uuu (b) Uuo 

(c) Ubu (d) Buo 

2. The oxidation state of Cl in HCIO4 is 2. HCIO4 6)eJ <Xf.i::>0100 ml'0ficm>16'l~ 
63o~1(JO.On!!m> mcruib ___ _ 

3. What is the bond order of 0 2 molecule ? 3. 630~1~cm ®ClllOl®WJ6'lS C61lJ06TB 63::>ibo.om 
n@O'm06m? 

. 
4. Blue Baby Syndrome is caused by excess 4. 

of ____ in drinking water. 

5. Sodium hexa meta phosphate 1s 5. 

commercially called : 

6. Identify the Lewis acid among the 6. 

following : 

(a) NH3 (b) H 20 

(c) BF3 (d} c1-

7. Suggest a suitable method for the 7. 

separation of a mixture of aniline and 

chloroform. 

6'QdJ C6YllmJ1 

gr eJ (m'G)1 eJ6~ 
IU'©)W1dhjQ)061T>. 

cru1onato.ooai1m" cb>0«>6mo 

6)1 

tlCTLl OM1Wo 6ln0~ 06)Q)AO (J<UlOC<r;yA" 

ruo6Tlil~n..J<0mom.Jl mmdlW6l'k!S6crn l!n.Jm. 

(1$)06)19 nJO<llJ6ITT)OJm.Jl~ e.JJm.Jlrru" (G'@cru1ruJ 

nffi6)®01) d➔.i6TlsJn.Jlslc66)6c&.,? 

(a) NH3 (b) H 20 
(c) BF3 (d) c1-

mmm1 e/l6)mW6o a~o llOOlln.DOlll16'lmcw6o 

aruiocrolm1c00000 63<tl6 momcao n.J()CQ)Jc£h, 

Answer any IO questions from ques"tion 

number 8 to 20. Each carries 2 score. 

10x2=20 

8 QlJ®cef6 20 QJ6lC?><llJJ~ C!l.J00~~~111ffi 

n@6lQS>m,1eiio 10 n©6mmUl1m ~(m'G)(1)6'lm~J®Jdb, 

63JC:<OO<m1m6o 2 llCWO© rul~o. lOx2=20 

8. State and explain law of definite 8. 6)CW~1Au l!ln.JO<JC;H::>ro~m, m1waio 

proportion. tnJcmooJl.q_d" n.ncro~cB:i«>'lcOOJcB:i ? 
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9. What are the two important defects of 9. OJL00CJnilOmM" 

Rutherford's nuclear model of atom ? 

10, Give the reason for the deviation of real 

gases from the ideal gas behaviour. • 

11. Differentiate between extensive and 

intensive properties with suitable 

examples. 

12. Justify the poRition of hydrogen in the 

periodic table. 

13. Give the IUPAC name of the following 

compounds : 

ID O ®~dh <n> A 6) S l (lJ C.O Om 6)<;l:j 3 
m~m®e&.,cio °tiJru. ? 

1 0. ru O rmru1 ce, ru O (ID&h, 6lll3 (0 mY0 (3 00 ru O CID c&i 

<T\.lJIIOCUcm>1am m1cm6o 

nlJ ®1.!l.J eJl cB6)JCln ®1 m J~ dh O lb 6m ~ C0 

Cl@l!'J®&dh, 

11. ~61<fl®m!lru om~"6)8cmcru1o1 CIJJ6m6muo 
m>am1 eJJ~ ClJc\®JOcm!imcio ~GOnD(l)6Tl1 

m.,n.dl®o nJlCl'OGc:DOG06}Jdh. 

12. mm> ru i6 wm m nJ 31ce,CD.1161 ei 6) 6) nn l (ti) &161 o'A 
cruoomo m.,owJe&.i(l)1 c86')J&b. 

13. ®06)':P cmcm1m1cB6'>6cm nuo<n>6c&mlimfil61S 

IUPAC momo Cl{j)~6cm6dh. 

(a) (CH3)2C = CH- CH3 

OH 0 
(h) I II 
~H 

14. (a) How will you prepare H2O2 in the 

laboratory ? 
14. (a) 6)6)n06)LruJgQOO 6lo...J<l006>61<1kCUJ" 

(b) Draw the structure of H2O2 

o..Ja>l~6mCJlK>eJ<DJlam <l©fim6)ffi(ll)06TT) 

m1mam1cB6'>6cmasr. 
(b) 6161n06)lru.>~or, 6)n.J<I006)61f3ruf 

15. Suggest a method to convert ethyne to 15. ~6)6)l£l61m 6)6YlJ!mm>IOO mm:,<001'1lo~:pm~ 
benzene. £»(OJ momr&o ml&<1gC/6lc.86)6c&. 

16. How will you prepare water gas and 16. C'l.JO§© (f)JOCTU6o 61lo..JOCUJcllm>CO OOJOm.>60 

producer gas ? n(i)6fil36)ffi<nJ~6'11) oilroam1t:96)6<man. 
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17. Account for the followmg : 17. ®::J6)'9 nJOWJ(ll) ruq~}6®dhm>c66r 

nJIC/bdlM6mo m<Ol~db. 

(a) H20 is a liqmd wlule H28 is a gas (a) (T\)0WOCll61Tl ~'rl~ooJI~ me.io 

at room temperature. lt'30<lJc&JOOJO'UO<DlleJJo 6)6lru>lClJJ~OO 

m>006>6ll\£l0.0 

(b) BeCI2 molecule has zero dipole 

moment. 

18. When sodmm metal dissolves in liquid 

ammonia 1l gives a deep blue coloured 

sol uhon. Explain the reason. 
\ 

19. Illustrate common ion effect using an 

example. 

20. Illustrate Markovnikov's rule taking the 

example of propene. 

Answer any 7 questions from question 

number 21 to 29. Each carries 3 score. 

7x3=21 

21. An organic compound contain the 

elements C. H and O in the composit.ion 

C = 54.24%, H = 9.05%- and O = 36. 71 %. 

If the molecular mass of the compound 

is 88 u, what is the molecular formula 

of the compound ? 3 
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<lJO®«bOnJ<YUOmJI eJJal06l'li'. 

(h) 6)GnJo1ellwo Cti06)6)0<Uf 

®Clll0l®<1VJ6)S 6)6)(U)Q1~:P<il> 6)1Il:)1Il~ 

~~o aJ06TT). 

18. IJ(T\)Oru>1<nlo CeJOnOo ll300Jd➔.i 

tlffiHJQI0611')1m,mJI~ eJCOJ1fB6>Jl:m.JOOO dbSJo 

mie.i m1oo <8>06m1<86>60l)J, db0Cll6TT)o 

nJlcooaiod36>6<0>. 

I 9. c<0>om6rio !Um(J<DJ061l0 ~nacfa" il30nOco6m 

(Tl)ru)1®o n1lcll>Blll0cfJ6'>Jd'.h. 

20. l:ln.JO~<m ~00n0tl>6TOIIIO<nfl <l('.i)SJCGYaf 

mod>Gd36l::>6ID1Gd36>00J m1wmo 

nJlCRIBQIOfB6>Jd'.h. 

21 OlJ®<D'i> 29 C1J6)CllWJ~ C.!lJOBJ608~1~ 

~ 6'> an 8b1 ello 7 n(j)6PJCffl>1 ni' ~cm>tl>6)al'9J®J<8>. 

630<J<bomilm6o 3 a~o«i nJlcmo. 7x3=21 

21. 63©& 630roooomlc& m>oCWJcBfflo n.JlcRlc&.>eJmo 

6).!l.J~®1ffi6 m1tmJo arm®1~ 
coros60Blmflc61'66>Jtm ~db~OO dbOii>miri. 

6)6)ru) lcw !ti! cm, 630<#a ,~ cm n(j)<m1 ru woQ1'>. 
C=54.24% ~. H=9.05% ~o. 0=36.71% 

~§11 m>o<D>J<&ffi>Cfflilfi>~ ®ClllOl(U}(IO<Do 88 u 

CO@>CWO cda arm ®16)1 ®Clll O laDO OJ O cfbJo 

<8>6TSJ<JlslcB6lJc0)? 3 



22. (a) 

(b) 

23, {a) 

(b) 

Write the general outer electronic 

configuration of d-block elements. 
1 

The first ionisation enthalpy of 

sodium is lower than that of 

magnesium but it's second 

ionization enthalpy is higher than 

that of magnesium. Explain. 2 

Give two similarities between 

lithium and magnesium. 2 

When carbon dioxide is passed 

through lime water, milkiness 

appears. Give equation for the 

above reaction. 1 

24. Complete the following reactions. 

22. (a) 

(b) 

23. (a) 

(b) 

d-block ai,e.i~~6)S 6>n.J0®60JO<W 

mJOn!Wll'>m ~eJfJlcl061io o.llmjO<nJo 

n@'9JCID6db. 1 

fJ <ru o cw1 w <m>16> 1 63 rm o o 

mm aw o 6ml &b m 6Tl1 ~iu lo !JG o 

m cmi ~J mm16) ~ ®16'I m ~out, 
dh60ruo6rrf. Oij)<mOaf3 cumcm16l1 
«J ~ Oo l'lfm CJ Cil.J 06TI'fl db «J6m ~"Om~ o 

Ill crrfl ~j m-G>16' 1 CID16l mc86) 0 dt, 

~SJ®2.106ffi nf1Ul)~dl>co'ld}6)Jd7J. 2 

efll1:l1C!l.Jru6o mcml~jru6o ®cn:!l1e.i~ 

tb6m <TUOG~Ul)j61SB<m OfJ'l6®6e,. 2 

.!l.lJ 6m o mJ 6) ru ~mm1 a ei gf 
c&, :J ro 6\'l.J Q'm 6> 6> CW 630 6) 6lfil ru.r 
c&,scnm1nll3oam <mrH1n" ruoaf3 m1o 
aioc&6rm6. amat6 n..J06YUm 

l~ rum m'G> m (m)16> oA tt1 O m>ru Ocihjo 

OfJ'IJ®Jdb. 1 

24. cn>06l'f 6lc&>OSJ(m)1«>1c86)6rm mom> 
ln.JnJi6cmDmmc.m n.1,m~moc00ee,. 

dry 
(aj 2CH3Br+2Na -e-~~tt~---- +2NaBr 1 

25. (a) 

(b) 

(b) 

(c) 

Define Dalton's law of partial 

pressures. 1 

Density of a gas was found to be 

5.59 K at 27°C and 2 bar pressure. 

Calculate it's molecular mass. 

(R= 0.083 L.atm / mol/ K) 2 

FME 25 I Chemistry 

25. (a) 

(b) 

6 

1 

___ +HCI I 

CWOOO§ci><n> CeJO 63::>nD" cuO<On!HJIU'6 
l~~m n@011)06m ? 1 

2 bar mi6gcmD1e.i6o 27"C ~~ &31bJ 

0JO®dhmm>16'>~ CTU0l03® 6.59 K 

CU06rr( ~cn,16'><ifl ®rm::> l cmo 11 ::>© o 

c9>6mc86)0c:&6l6c&>. (R = 0.083 L.atm I 

m~/~ 2 
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26. Balance the following redox reaction 

using oxidation number or ion electron 

method in acidic medium. 3 

26. 00~1<1<W~<m mm.J«> ~@lmJl<SeJO (tM)<lmJ06m 

~eiat~06fro m1®1mllae10 <mcm1m1ce(i)6on 
mocru l IL.IOJ ioml5'l m6lmn> cru ml dhm1 cB6)Jdh. 3 

(ac1d1c medium) 

27. (a) Explain the bonding in diborane. 

2 

How will you convert diborane to (b) 

inorganic benzene ? I 

28. Calculate the enthalpy of formation of 

methane from the following data : 
3 

27. (a) 6> 6l cw <161l.l o a o m16l ei mo ou 6TlJ moo 

(b) 

o.Jlrum1 iB6)Jc:Eh. 
2 

6) 6l cw ll 6TlJ o <10 6l m n(j)fim36l m w ::>6m" 

@2 (I mo«> (I) 0 m1 ca," 6l 6rll cm OU°I m O<B6'>1 

m::>A&<m®. 

28. ®06V:9 ®<m1m1<B6'>6<m 

«n?Js1mmom~1C!B 
m6 n..n <ih co 6ID fflTll)16l 1 
&h6T8Jn..JlsliB6)Jcfb. 

1 

rucm6®c&~6lS 

ai1aLO<m 

~'tl«>~o 

3 

(a) C(s) + 0 2(g) ➔ CO2(g) ~H = - 393.o kJ/mol 

(b) H 2(g) + Y 20 2(g) ➔ H 20(i) Mi= - 285.8 kJ/mol 

(c) CH4(g) + 202(g) ➔ C02(g) + 2H20(1) ~H = - 890.4 kJ/mol 

29. (a) 

(b) 

What is meant by smog ? 1 
Explain the adverse effect of global 

warming. 2 

Answer any 3 questions from question 

number 30 to 33. Each carries 4 scores. 

3x4=12 

30. Quantum numbers are the address of an 

electron in an atom. 

(a) Justify this statement and explain 

the different Quantum numbers. 

3 

FME 25 / Chemistry 6 

29. (a) 

(b) 
I 

roT0 aw o ~ @ o nJ m rnro16'l rtq a B ::> n!i 

ru~6IB6l~6o1.gJ nJlrum1c006c£➔.i. 2 

30 ai6cmfflll 33 n.J6)mCU.16~ a.!l.JOG~6ff13§.1fflll 

n@6la,)IB,1eJJo 3 n©6™cm>'lm ~cm)Cl)6)1Jl~J©J&h. 

'30(8(00milm30 4 a~om n!l@o. 
Sx4=12 

30. dbJO<mo mm.Jo6c:BJcif> 63mOAcm>1o>ei 
gQeJCllda06mJ,db~6'lS QQl(efo o.JleJ::lCTUQl::>61TI. 

( a) m6&h§.1 fflll ru o 6YttT[) ru o .!lJ &h 6l mm 

CTUOWJc&rD1iB6)J&h. c:8JJ:)6Tl'so mm.JOJ,c:fb-

6)§_<00,!,01.~f o.Jl~BQlOcOOJ&h. 
3 



(b) Write the four quantum numbers 

of the last electron of sodium atom. 
1 

31. Using hybridisation and Valence Shell 

Electron Pair Repulsion (VSEPR) 
theory, explain the hybridisation and 

shape of NH3 and H 2O molecules. 4 

(b) acru o cw1 en, o 

«rm ru rro om 6) mm 
O(j) ~:) c&J O Eil8 o 

o@196®6tfh. 

«11'0 Aorrm16) e.i 

meit:l~06m16'1~ 

mm.JnJc:&.,~o 

1 

31. 6)6)nDtEiYlfl6>6)CW<Brrun!:lm6o ruoeim,mj' 6)n!:l<trn 

~eJ<Jl~Ofil'"m 6)n.J(DJffl 01'.l::J~n!:!<m (VSEPR) 
cru1(3l)OmDnJ6o ~n.Jacn,0001.gJ com<1mo6Trilm,o, 
~eJo O(Dmfl ®Oll0l®db~6>5 

6)6'1n{')l mil 6)6)('\J) C: ffi)n!H ffiJO' ~dbJ ®1 (DJ 60 
nflClbBlll0cf)6)Jdb. 4 

32. (a) State Le-Chatlier's principle. 1 32. (a) 6leJ-n9:106)AeflCDJro 
ln.J'm0nllce6'>6c&. 

®®Jo 

1 

(b) Predict the conditions to be 

applied to maximize the 
production of ammonia in the 

following reaction by using 

Le-Chatlier's principle. 3 

(b) 6)eJ-~06>Aefl<DJm ®®Jo ~n.JIJWOcril.gif 

®06)19 6)db05&<1Tm1CD1cB6>6<TT> 

tn.Jrummmm<mSI am Clffl>IJal06JlilWW66'>S 

~<mOBmo ()J«)'31)1«J:llc66)0ffiOw'l 

o@6) mr> 06'l c66) cruonn .!l.l «>J 61113 ~ o m-r 
~.!2..11®6)alcm ln.JOJ.!l.Jlc66)J«b. 3 

N2(g) + 3H2Cg) .=== 2NH3(g) ~H = -92.4 kJ/mol 

33. (a) 

(b) 

What do you mean by the following 

terms ? Give examples. 2 

(i) Nucleiophile 

(ii) Electrophile 

Explain the chemistry of 
Lassaigne's test for the detection 

of chlorine in an organic 

compound. 2 

-oO o-
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33. (a) 

(b) 

7 

C!fl86)':9 n..JOCQ.IJ<TT> n...JG!iml'..in 6)~06ll!" 

m1 lime.in mm roan.o m8c66)JITTl 6)®6)mr>(li)" 

~1'30nDC06'1Tlcrunn1 ®o nJ1 UGGCD8c66)Jc&. 

(i) m~~aCDJ06l61nD~mJ 2 

(ii) gQeJ<Jtdj06'16lnJJmiJmJ 

63m6 63omcnom1dh cruoCDJ6<B®cmn16leJ 
a~o~6'1~ cruocm1l'3.IJJo 
n.J co1 a ua o w1 ~ 6rm ®1 m 6 ~ 
ei 6) 6l cru mi mj" n.J m1<Buaowmw66) s 
COm>C!fllCTino o.fl0b~t&.,(()1c86')6~. 2 

-o O o-




